Axelent X-Rail

AXELENT

AXELENT AB ¢ BOX 1
KAVSJOVAGEN 17 @ SE-335 73
HILLERSTORP ¢ SWEDEN

TEL +46 (0)370-37 37 30

INFO@AXELENT.SE
WWW.AXELENT.COM

Bin]&] f

C-0012846-01/C-0013692-01 | 2110_X-Rail_assembly_guide




Handrall fittings with rivet,

kﬁ: >< —
iﬁg §
i |
:ll 3 P
i 55
X+30

Handralil fittings with
selfdrilling screw, Page : 8

”| Handrail: x+70

Handrail outer comer,
Page : 9

T

Kick plate L min.80 - max. 1500

Handrail inner cormer /
Kickboard Inner comer, Page : 13

Tested and approved against the
following standards:

- DINENISO 14122-3: 2016
-BS 6180:2011

- AS 1657:2018

- OSHA 1910.29

Mounting of post in various types of floor,

Page : 3

WWW.axelent.com

Axelent X-Rail | 2/17



All tests and verification have been performed with '\‘
below various types of floor to ensure that it works in

different environments:

- Concrete

- 38 mm mdf board placed on top of an I-beam in steel
- Grid floor placed above an I-beam in steel

10-9913 ,M8x55
10-9906, M8

GRID FLOOR M8x60,5, M8x51

S5-0136-02, S-0136-03

§o
>

I-BEAM & MDF

10-9915, M8x70
10-9916, M8x90

@

10-9906 ,M8

e
CE—

10-9942

G2187

=

G2187

Optional counterplates/
welding plates

10-9767, M10x16

J
(=
O
G2297-1 (
10-9928, M10x20 10-9703

WWW.axelent.com

Axelent X-Rail | 3/17



l

| |
T N

1

1 1 I -’/ I
| |
5 il

B00-060 ) —=—
G2525 8 G2526

1

FXB-4.8X32 * AMCBS-M8.25

1
A
|
|
'
=

©
T 7o)
T08-3-150RE 7%wK”W:::::iii::;;:\,,\\ o. MR > 6 mm
_ D e
0515100-1500 Art-G2292-150 G2290 : G2291 8 G3055

’
’
4

!

PH2
,,,,,:::::::::::::::::::::::::::::::;3 \ \ \ \ J @‘
Hex 7 mm
G2528-157-3 G2531 G3056 2066

www.axelent.com Axelent X-Rall | 4/17




|

09
i
'
' 00
'
'
0" v
0
0
e

‘--_ o008

(4 0o o

/éxii;

x+30 O Information, Page: 3 BAES

N G2290

www.axelent.com Axelent X-Rall | 5/17



Hex 7mm

008

000

B00-059 : Page 8

WWW.axelent.com

G2528-157.5"

G526

Axelent X-Rall | 6/17



www.axelent.com Axelent X-Rail | 7/17



B00-059

MC6S-M8.25

109790

oy
Y :

i
o (F¥

7
PH2 6 mm e

“‘f 7\\—4 AR Yo \ ‘s'/r NS ,,»\“
\ P ) . WD

>

FXB-4.8X32 MC6S-M8.25 10-9750

B00-059 }

X1
X1
X1
X1
X2

G2524 G2526

WwWw.axelent.com Axelent X-Ralil | 8/17



] |
— — ']:-]'I
G2530 G2528-107-3 G2531 (3056 2066 /
B00-060 YUV 6 mm
X X X X =
G2525 G2526 Art-G2527 FXB-4.8X32 MCBS-M8.25 f
PH2
© [
\\\\\\\ - 8 | \//
T08-3-100RE it 9
o
B m - I _ - Hex 7mm
2515100-1000 G2292-100 G2290 x G2291 . G3055 .

www.axelent.com Axelent X-Rail | 9/17



20|09
¥g)08
]
LA
Polo8
8309
Pol08
8338
Pol09
8309
velo8
8338
Polas
p JUCSCNEEEN 4

Pofo8

Pol08

Pojo8

Po(08

Pojo8

2008

G2290 N

G2291 N

WWW.axelent.com

09|99 opl90
Pe[08 LY
Pe(08
Pe(08
#3)0¢ folo8
00 9009
23|38
ve/08
2508 ')
|08 9009
23/38
20)98
‘ i i M M
v ¥ v ¥
) ; ;
v v
O Information, Page: 3
<= —
Pe|o8 fol08
2gla0 2000
|08
0gg0
Bs(09 e 00
LRI velnn
2g(08
2008
8509 8008
bejot v 08
25(38

Axelent X-Rail | 10/17



2990

9999

LhIhE AN
0p(g8

<=

8000

ool
Pelg® LA (D= = - -
volonf " - 2

e, 02525

2390 0928
"oy e
- 70 - .
-~

Hex 7mm G3055
¢ P08
|

WWW.axelent.com

4q 122531

(| Goseg
-
3 C65-M825

L

©2526

e 2 MOBS-MB25

6 mm

Axelent X-Rail | 11/17




G2066

Pl

Pe[08

Pej08

WWW.axelent.com

Axelent X-Rail | 12/17



G £
1 - - g J=
B00-057 - . Y | |
|| .
> ” >
G2293 G2294 G3055
©
T (Yo}
""wi:::——r\,,,\%\ o
T08-3-100RE — PN
o
— m —
0515100-1000 G2292-100 8 G2291 G3055
\\\ N N
B00-060 } x J 6 mm
; — —
G2525 G2526 FXB-4.8X32 MCBS-M8.25 f
PH2
- < Hex 7mm
G2528-107-3 G3056 2066 G2529 ~ FXB-4.8x18 |

www.axelent.com Axelent X-Rail | 13/17



]
0109
—_ Rl P
e LH] ()
LRIGL '
t|09
tejo8 ]
008 ol 0|08
29
90 Pojo¥ ve00
LE
Pofo8 o[o8
90
23|38 LR}
29
R 25|38 LRYE
2800 9330 (3061
Pojo8 P
e
”p/90
LT}
ve(0d rjod
LE]E
23|38 ')
R 23 38 Poln0
Yo(o8 vefs9 0
tojof fe(od
I‘i L}
LA
e e
- <. 3
< “a ] i | W
S e ST . ] ]
At T T - ' o -
= _Le=mTT . e : I
""""""" = g b
< e o .4 LA
LU, 4 - ,
- O Information, Page: 3

G2290

e T

N =
G2291

s -1 emm

www.axelent.com Axelent X-Rail | 14/17




Hex 7mm.

WWW.axelent.com

5

Hex 7mm

38

38

|
|
/,Jh:‘
Y e
Do
| Q ===

9|08

2[08

(08

f[08

Axelent X-Rail | 15/17



- =
_ ___v

AV = OJ T
% o
T
o
s o
(==} o
=} =}
.
.
) =
o o

Hex 7mm

H =544

Axelent X-Rail | 16/17

WWW.axelent.com



..

FXB-4.8x13

L

(2066

WWW.axelent.com

oj08

Axelent X-Rail | 17/17



